HERM T

TL—RF1I d—X FOE=F & EB><RT(A)
START |5«#7 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 | 700 | 657 | BX X 7.1 9 =1 I 7.3 9 2EX %A 10.0 12 FWli = 10.8 19
2 707 | 704 | AGRHEIFE 5.1 6 £8 BE 9.6 12 B #®& 11.3 14 LI N =] 13.1 16
3 | 724 | 71 | FRE W 5.7 7 hiE & 10.9 13 e H E 12.5 15 BER = 14.6 17
4 | 722 | 715 | BH BE 6.7 8 TN 75 15 £ 2 K& # 10.0 12 AE BB 13.9 17
5 |72 | 722 | Bl 8 47 6 BHERF 7.8 16 [ 12.4 15
6 | 735 | 72 | W ERE 9.1 11 = 9.9 12 Wi FF 10.4 19 BER BH# 11.2 13
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